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Answer any FIVE questions.  

Each question carries 7 marks. 
 (5  7 = 35) 

1. 7
13


yx
 ©ØÖ® 6

45


yx
 )0,0(  yx  GßÓ 

\©ß£õkPÎß wºøÁU PõsP. 

 Solve : 7
13


yx
, 6

45


yx
 )0,0(  yx . 

2. J¸ Tmkzöuõhº Á›ø\°À Akzukzu ‰ßÖ EÖ¨¦PÎß 

TkuÀ 54 ©ØÖ® AÁØÔß ö£¸UPØ£»ß 5670 GÛÀ A¢u 

‰ßÖ GsPøÍU PõsP. 

 If the sum of three consecutive numbers in an A.P is 54 
and their product is 5670 then find the three numbers. 

3. wºUP 7logloglog 2416  xxx . 

 Solve 7logloglog 2416  xxx . 
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4. RÌPsh AoPÎ¼¸¢x dcba ,,,  CÁØÔß ©v¨¦PøÍU 

PõsP. 
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
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 Find the unknowns dcba ,,,  in the following matrices. 
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5. 0132 2  xx  GßÓ \©ß£õmiß ‰»[PÒ  ,   GÛÀ  

(A)    (B) 
22    (C) )(    CÁØÔß 

©v¨¦PøÍU PõsP. 

 If   and   are the roots of the equation 0132 2  xx  

find the value of (a)    (b) 22    (c) )(   . 

6. 






cottan1
tan1

cot
cot1

tan






 Gß£øu {ÖÄP. 

 Prove that 






cottan1
tan1

cot
cot1

tan






. 

7. RÌPsh Â£μzvØS Cøh{ø» AÍÄ PõsP. 

¤›Ä CøhöÁÎ 10-20 20-30 30-40 40-50 50-60 60-70 

Aø»öÁs 5 4 7 5 8 6 

 Calculate median for the following data. 
C.I 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency 5 4 7 5 8 6 
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